
 

 

18 2 19

2 19

log(2,5 10 ) log(5 10 )

log5 log10

2 log5 19 log10

10
2 log 19

2

2 (log10 log2) 19

2 (1 0,301) 19

17,602.

− −

−

 = 

= +

=  − 

 
=  − 

 

=  − −

  − −

 −

𝑙𝑜𝑔10 1 000
1

2 =
1

2
⋅ 𝑙𝑜𝑔10 1 000 =

1

2
⋅ 3 = 1,5

𝑝 =
1

1 + 𝐴 ⋅ 𝑒−𝑐𝑡
⇒ 1 + 𝐴 ⋅ 𝑒−𝑐𝑡 =

1

𝑝
⇒ 𝐴 ⋅ 𝑒−𝑐𝑡 =

1 − 𝑝

𝑝
 

⇒ 𝑒−𝑐𝑡 =
1 − 𝑝

𝑝𝐴
⇒ 𝑙𝑛 𝑒−𝑐𝑡 = 𝑙𝑛 (

1 − 𝑝

𝑝𝐴
) ⇒ −𝑐𝑡 = 𝑙𝑛 (

1 − 𝑝

𝑝𝐴
) 

⇒ 𝑡 = −
1

𝑐
𝑙𝑛 (

1−𝑝

𝑝𝐴
) ⇒ 𝑡 = 𝑙𝑛 (

1−𝑝

𝑝𝐴
)

−
1

𝑐
 ∴ 𝑡 = 𝑙𝑛 (

𝑝𝐴

1−𝑝
)

1

𝑐

𝑁 = 𝑙𝑜𝑔10 𝐼10 − 𝑙𝑜𝑔10 𝐼0
10 

𝑁 = 𝑙𝑜𝑔10(8 ⋅ 10−8)10 − 𝑙𝑜𝑔10(10−12)10 

𝑁 = 𝑙𝑜𝑔10 (
8 ⋅ 10−8

10−12
)

10

 

𝑁 = 𝑙𝑜𝑔10(23 ⋅ 104)10 
𝑁 = 𝑙𝑜𝑔10 230 + 𝑙𝑜𝑔10 1 040 
𝑁 = 30 ⋅ 𝑙𝑜𝑔10 2 + 40 ⋅ 𝑙𝑜𝑔10 1 0 
𝑁 = 30 ⋅ 0,3 + 40 ⋅ 1 
𝑁 = 49 𝑑𝐵

28 = 26 + 𝑙𝑜𝑔3( 1,5𝑡) 

2 = 𝑙𝑜𝑔3( 1,5𝑡) 

32 = 1,5𝑡 

∴ 𝑡 = 6 𝑎𝑛𝑜𝑠

8,3 = 𝑙𝑜𝑔
𝐼

𝑆
 

𝐼

𝑆
= 108,3 

𝐼 = 108,3𝑆

𝑀 = 𝑙𝑜𝑔
4 ⋅ 108,3 𝑆

𝑆
 

𝑀 = 𝑙𝑜𝑔 22 + 𝑙𝑜𝑔 1 08,3 

𝑀 = 2 ⋅ 0,3 + 8,3 ⋅ 1 

∴ 𝑀 = 8,9 𝑔𝑟𝑎𝑢𝑠

{
𝑙𝑜𝑔10𝐸 = 𝐾 +

3

2
⋅ 7

𝑙𝑜𝑔10𝐸′ = 𝐾 +
3

2
⋅ 3

⇒ {𝐸 = 10𝐾+
21
2

𝐸′ = 10𝐾+
9
2

⇒ 

⇒
𝐸

𝐸′
= 10𝐾+

21
2

−(𝐾+
9
2

)
⇒

𝐸

𝐸′
= 10

12
2  

∴
𝐸

𝐸′
= 106

𝑀 = 𝑙𝑜𝑔10 𝐴 + 3 𝑙𝑜𝑔10 (8𝛥𝑡) − 2,92 

8,08 = 𝑙𝑜𝑔10 𝐴 + 3 𝑙𝑜𝑔10 (8 ⋅ 125) − 2,92 

8,08 = 𝑙𝑜𝑔10 𝐴 + 3 𝑙𝑜𝑔10 (1000) − 2,92 

8,08 = 𝑙𝑜𝑔10 𝐴 + 3 ⋅ 3 − 2,92 

𝑙𝑜𝑔10 𝐴 = 8,08 + 2,92 − 9 

𝑙𝑜𝑔10 𝐴 = 2 

𝐴 = 102 

𝐴 = 100 𝑚𝑚



 

 

𝑎 + 2 𝑙𝑜𝑔10 1 = 1 
𝑎 + 2 ⋅ 0 = 1 
𝑎 = 1

1 + 2 𝑙𝑜𝑔10 𝑥 = 3 

𝑙𝑜𝑔10 𝑥 = 1 

∴ 𝑥 = 10

𝑡
𝑁(𝑡) = 2500.

2500 = 500 ⋅ 𝑒0,08𝑡 ⇔ 𝑒0,08𝑡 = 5 
       ⇔ ℓ𝑛 5 = 0,08𝑡 
       ⇒ 0,08𝑡 ≅ 1,6 
       ⇒ 𝑡 ≅ 20.

20

𝑛
𝐹 = 2𝐶. 𝑥 = 0,008,

2𝐶 = 𝐶(1 + 0,008)𝑛 ⇒ 2 = 1,008𝑛 
       ⇒ 𝑙𝑜𝑔 2 = 𝑙𝑜𝑔 1 , 008𝑛 

       ⇒ 𝑛 =
𝑙𝑜𝑔 2

𝑙𝑜𝑔 1 , 008
 

       ⇒ 𝑛 ≅
0,3

0,003
 

       ⇒ 𝑛 ≅ 100.

4 = 40 ⋅ 𝑒−𝐶⋅600 
1

10
= 𝑒−𝐶⋅600 

𝑙𝑜𝑔𝑒

1

10
= 𝑙𝑜𝑔𝑒 𝑒−𝐶⋅600 

𝑙𝑜𝑔𝑒 1 0−1 = −𝐶 ⋅ 600 ⋅ 𝑙𝑜𝑔𝑒 𝑒 

−1 ⋅ 𝑙𝑜𝑔𝑒 1 0 = −𝐶 ⋅ 600 ⋅ 1 

𝑙𝑜𝑔𝑒 1 0 = 600𝐶 

𝐶 =
1

600
𝑙𝑜𝑔𝑒 1 0

𝑓(1) =
𝑥

2
,

𝑥

2
=

𝑥

1 + 5 ⋅ 2−
𝑥
2

⇔ 2−
𝑥
2 = 5−1 

       ⇔ 𝑙𝑜𝑔2 2−
𝑥
2 = 𝑙𝑜𝑔2 5−1 

        ⇒ −
𝑥

2
≅ −2,32 

        ⇒ 𝑥 ≅ 4,64.

𝑓 =
𝐴

𝑟𝐵
⇔ 𝑙𝑜𝑔 𝑓 = 𝑙𝑜𝑔

𝐴

𝑟𝐵
 

   ⇔ 𝑙𝑜𝑔 𝑓 = 𝑙𝑜𝑔( 𝐴) − 𝑙𝑜𝑔 𝑟𝐵  

   ⇔ 𝑌 = 𝑙𝑜𝑔( 𝐴) − 𝐵 ⋅ 𝑙𝑜𝑔 𝑟 

   ⇔ 𝑌 = 𝑙𝑜𝑔( 𝐴) − 𝐵 ⋅ 𝑋.

2 ⋅ 10−8 = 7,8 ⋅ 10−4 ⋅ (
1

2
)

𝑛

108,
2 ⋅ 2𝑛 = 7,8 ⋅ 104 

2𝑛 = 3,9 ⋅ 104 

2𝑛 = 39 ⋅ 103 

𝑙𝑜𝑔 2𝑛 = 𝑙𝑜𝑔( 39 ⋅ 103) 

𝑛 ⋅ 𝑙𝑜𝑔 2 = 𝑙𝑜𝑔( 3 ⋅ 13 ⋅ 103) 

𝑛 ⋅ 𝑙𝑜𝑔 2 = 𝑙𝑜𝑔 3 + 𝑙𝑜𝑔 1 3 + 𝑙𝑜𝑔 1 03 

𝑛 ⋅ 0,3 = 0,48 + 1,11 + 3 

𝑛 ⋅ 0,3 = 4,59 

𝑛 ≃ 15

𝑡

𝑄(𝑡) = 50 
𝑔

𝐿
.

50 = 100 × 5−0,3𝑡 ⇔ 5−0,3𝑡−1 = 10−1 

       ⇔ 𝑙𝑜𝑔 5−0,3𝑡−1 = 𝑙𝑜𝑔 1 0−1 

       ⇔ (−0,3𝑡 − 1) ⋅ 𝑙𝑜𝑔 5 = − 𝑙𝑜𝑔 1 0 

        ⇒ (0,3𝑡 + 1) ⋅ 0,7 ≅ 1 

       ⇔ 0,3𝑡 ≅
1

0,7
− 1 

       ⇔ 𝑡 ≅
10

7
 

       ⇔ 𝑡 ≅ (1 +
3

7
) ℎ 

       ⇔ 𝑡 ≅ 1 h +
3

7
⋅ 60𝑚𝑖𝑛 

        ⇒ 𝑡 ≅ 1 h 𝑒 25𝑚𝑖𝑛.



 

 

8 = 10 − 𝑙𝑜𝑔 𝑛 ⇔ 𝑛 = 100.

1

100
⋅ 100% = 1%.

𝑥 > 0.

𝑙𝑜𝑔3   𝑥 = 1 + 12  𝑙𝑜𝑔𝑥2   3 ⇒ 𝑙𝑜𝑔3 𝑥 = 1 + 12 ⋅
𝑙𝑜𝑔3 3

𝑙𝑜𝑔3 𝑥2

⇒ 𝑙𝑜𝑔3 𝑥 = 1 +
12

2 ⋅ 𝑙𝑜𝑔3 𝑥
⇒ 

2 ⋅ (𝑙𝑜𝑔3 𝑥)2 = 2. 𝑙𝑜𝑔3 𝑥 + 12
⇒ 2 ⋅ (𝑙𝑜𝑔3 𝑥)2 − 2. 𝑙𝑜𝑔3 𝑥 − 12 = 0 ⇒ 

𝑙𝑜𝑔3 𝑥 =
2 ± 10

2 ⋅ 2
⇒ 𝑙𝑜𝑔3 𝑥 = 3 ⇒ 𝑥1 = 27 ou 𝑙𝑜𝑔3 𝑥 = −2

⇒ 𝑥2 =
1

9
 

𝑥1 ⋅ 𝑥2 = 27 ⋅
1

9
= 3

𝑥 > 0,

𝑥𝑙𝑜𝑔5 𝑥 =
𝑥4

125
⇔ 𝑙𝑜𝑔5 𝑥𝑙𝑜𝑔5 𝑥 = 𝑙𝑜𝑔5

𝑥4

53
 

        ⇔ 𝑙𝑜𝑔5 𝑥 ⋅ 𝑙𝑜𝑔5 𝑥 = 𝑙𝑜𝑔5 𝑥4 − 𝑙𝑜𝑔5 53 

        ⇔ 𝑙𝑜𝑔5
2 𝑥 − 4 ⋅ 𝑙𝑜𝑔5 𝑥 + 3 = 0 

        ⇔ (𝑙𝑜𝑔5 𝑥 − 1) ⋅ (𝑙𝑜𝑔5 𝑥 − 3) = 0 

        ⇔ 𝑥 = 5 ou 𝑥 = 125.

𝑎 = 5 𝑏 = 125.
1

2
⋅ (125 − 5) = 60.

S

2 2

2 2

M 3,3 log(2000 0,2)

3,3 log(2 10 )

3,3 log2 log10

3,3 2 log2 2 log10

3,3 0,6 2

5,9,

= + 

= + 

= + +

= +  + 

 + +




